MAASAI MARA UNIVERSITY

REGULAR UNIVERSITY EXAMINATIONS
2018/2019 ACADEMIC YEAR

SECOND YEAR FIRST SEMESTER

SCHOOL OF TOURISM AND NATURAL
RESOURCE MANAGEMENT

DIPLOMA IN TOURISM AND WILDLIFE
MANAGEMENT

COURSE CODE: NDTW 133
COURSE TITLE: BASIC STATISTICS AND RESEARCH
METHODS

DATE: 15.4.2019 TIME:

INSTRUCTIONS TO CANDIDATES
1. Answer Question ONE and any other THREE questions

This paper consists of 6 printed pages. Please turn over.



SECTION A: ANSWER QUESTION ONE (25MKS)

Question One

i) Define statistics. Statistics is subdivided into two major groups name and
briefly explain them. (5 Marks)

ii) The heights (in centimeters) and weight (in kilograms) of 10 basketball
players on a team are:

Height (X) [186||189|190(192|]193|/193(198||201|203|205
Weight (Y)||85 |85 (|86 |90 |87 (91 |93 |103(|100|101

Calculate:
a) Theregression line of y on x.

NB: Use the equations below to get the regression line.

Yy =an + bXx
XXy = a).x + bXx?

(12 Marks)
b) The coefficient of correlation.
DREPRIN
Y = x|y ~(Zy)

c) The estimated weight of a player who measures 208 cm. (4 Marks)

r= (4 Marks)

SECTION B: ANSWER ANY THREE QUESTIONS (45 MKS)

Question Two

a) Name and briefly explain the three methods of Measures of Central Tendency.
(3 Marks)



b)

There are three different basketball teams and each has played five games.
You have each team's score from each of its games below.

Game 1 Game 2 Game 3 Game 4 Game 5
Jaguars 67 87 54 99 78
Wolves 85 90 44 88 55
Lions 32 101 65 88 55

Suppose you want to join the best of the three basketball teams. Which one

would you join? (2 Marks)
Get the median score of each team (2 Marks)
The following table shows the number of hours per day of watching TV in a
sample of 500 people:

Hours 0-1 2-3 4-5 6-7 8-9 10-11 | 12-13
Frequency | 55 87 145 90 73 35 15

i) What is the mean number of TV viewing hours in this group?
ii) What length of time is most often spent in front of a TV for this group?
iii) What is the median number of TV viewing hours?

Question Three

(8 Marks)

a) Differentiate between Interquartile and Semi Interquartile range (3 Marks)

b) Using the data below calculate the Quartile and Semi interquartile ranges

(8 Marks)




Number of order Frequency
10-12 4
13-15 12
16 -18 20
19 -21 14
Calculate the variance and Standard Deviation. (4 Marks)

Question Four
a) Define Normal Distribution (2 Marks)
b) In alarge- scale tree - felling operations, a machine cuts down trees, strips off
the branches and then cuts the trunks into logs of length X metres for

transporting to a sawmill. It may be assumed that values of X are normally

distributed with mean p and standard deviation 0.16, where p can be set to a
specific value.

a) Given that uis set at 3.3, determine
i) P(X<3.5); (4 Marks)

ii) P (X>3.0); (4 Marks)



iii) P (3.0< X < 3.5) (2 Marks)

b) The sawmill now requires a batch of logs such that there is a probability of
0.025 that any given log will have a length less than 3.1 meters.

i) Determine to two decimal places the value of p (3 Marks)
Question Five

a) Define Poisson distribution. (2 Marks)
b) For a certain type of computers, the length of time between charges of the
battery is normally distributed with a mean of 50 hours and a standard
deviation of 15 hours. John owns one of these computers and wants to know
the probability that the length of time will be between 50 and 70 hours.
(4 Marks)

c) A test is conducted which is consisting of 20 MCQs (multiple choices
questions) with every MCQ having its four options out of which only one is
correct. Determine the probability that a person undertaking that test has
answered exactly 5 questions wrong.

P, Cx)= En X)p= "=
n!

3 x!(n—x)!p 1

(5 Marks)

d) A die marked A to E is rolled 50 times. Find the probability of getting a “D”
exactly 5 times. (4 Marks)



Number in the
table represents

Py A

P(Z<2)
z

z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
00 | 5000 5040 5080 5120 5160 5199 5239 5279 5319 5359
01 | 5398 5438 5478 5517 5557 5596 5636 .5675 5714 5753
02 | 5793 5832 5871 5910 5948 5987 6026 6064 6103  .6141
03 | 6179 6217 6255 6293 6331 6368 6406 6443 6480  .6517
04 | 6554 6591 6628 6664 6700 6736 6772 6808 6844 6879
05 | 6915 6950 6985 7019 7054 7088 .7123 7157 7190 7224
06 | .7257 1291 1324 1357 1388 7422 7454 7486 1517 7549
07 | .7580  .76M1 J642 7673 7704 7734 7764 7794 7823 7852
08 | .7881 1910 7939 7967 7995 .8023 .8051 8078 8106 8133
09 | 8159 8186  .B212 8238 8264 8289 8315 B340  .B365  .8389
10 | 8413 8438 8461 .8485 8508  .8531 8554 8577 .8599 .8621
11 | 8643 8665 8686 8708 8729 8749 8770 .8790 8810  .8830
12 | .8849 8869 8888 .8907 8925  .8944 8962  .8980 8997 9015
13 | 9032 9049 9066 9082 9099 9N5 9131 9147 9162 9177
14 | 9192 9207 9222 9236 9251 9265 9279 9292 9306  .9319
15 | 9332 9345 9357 9370 9382 9394 9406 9418 9429 944
16 | 9452 9463 9474 9484 9495 9505 9515 9525 9535  .9545
1.7 | 9554 9564 9573 9582 9591 9599 9608 9616 9625  .9633
18 | 9641 9649 9656 .9664 9671 9678 9686 9693  .9699  .9706
19 | 913 97119 9726 9732 9738 9744 9750 9756  .9761  .9767
20 | 9772 9778 9783 9788 9793 9798 9803 9808  .9812  .9817
21 | 9821 9826 9830 .9834 9838 9842 9846 9850  .9854 9857
22 | 9861 9864 9868 9871 9875 9878  .9881  .9884 9887  .9890
23 | 9893 9896  .9898  .9%01 9904 9906  .9%09 .99 9913 9916
24 | 9918 9920 9922 9925 9927 9929 9931 9932 9934  .9936
25 | 9938 9940 9941 9943 9945 9946 9948 9949 9951 9952
26 | 9953 9955 9956  .9957 9959 9960  .9961  .9962  .9963  .9964
27 | 995 9966 9967 .9968 9969 9970 9971 9972 9973 9974
28 | 9974 9975 9976 9977 9977 9978 9979 9979 9980  .9981
29 | 9981 9982 9982 9983 9984 9984 9985 9985  .9986  .9986
30 | 9987 9987 9987 9988 9988  .9989  .9989 9989  .9990  .9990
31 | 9990  .9991 9991 9991 9992 9992 9992 9992 9993  .9993
32 | 9993 9993 9934 9934 9994 9994 9334 9995 9995  .9995
33| 9995 9995 9995 9996 9996 9996 9996 9996 9996  .9997
34 | 9997 9997 9997 9997 9997 9997 9997 9997 9997  .9998
35 | .9998 .9998 9998  .9998 9998  .9998 .9998 9938 .9998 .9398
36 | 9998 9998 9999 9999 9999 9999 9999 9999 9999 9999
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